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1. With regard to ‘Carbon credit’, consider the following statements:

1. These are credits awarded for greenhouse emissions reduced or removed from the
atmosphere from an emission reduction project.
2. The carbon credit system was ratified in conjunction with the Kyoto Protocol.

Which of the statements given above is/are correct?

O 1 only

O 2 only

O Both 1 and 2

O Neither 1 nor 2

2. Which among the following is/are the constituents of natural gas?

1. Methane
2. Carbon dioxide
3. Nitrogen

Select the correct answer using the code given below.
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O 1 only

O 1 and 2 only
O 2 and 3 only
O1,2and3

3. The problem of crop residue burning has intensified in recent years. Which of the
following are the reasons for farmers burning the crop residues in the fields?

1. Declining number of livestock with farmers.
2. Long period required for composting.

3. Improved soil health due to burning.

4. Increased mechanization.

Select the correct answer using the code given below.

O 2 and 3 only
O 1, 2 and 4 only
O 1 and 3 only
01,2 3and4

4. Which of the following are the reasons behind mulching of fields?

1. To conserve moisture
2. To prevent soil erosion
3. To reduce the growth of weeds

Select the correct answer using the code given below.

O 1 and 2 only
O 2 and 3 only
O1,2and3
O 3 only

5. Which of the following ‘Environment Protection Charge’ is applicable?

O Industries lacking facilities for effluent treatment.
O Manufacturers selling diesel cars.

O Industries dealing with radioactive substances.

O Manufacturers generating e-waste.






